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There are 15 questions in this bookiel.
SECTIONA

Total Time : 1 h 45 min {(Booklet A and B)

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

CHECK THAT ALL MCQ ANSWERS ARE SHADED CORRECTLY IN THE OAS

This question paper consisis of 5 printed pages.






-Section A: { 30 marks)
Questions 1 to 15 carry 2 marks each. For each guestion, four options are given.
One of them is the correct answer, Make your choice {1, 2, 3 or 4). Shade the
correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Inthe number 14 273, which digit is in the thousands place
) 1 _
22
(33
(4)4

2. Which of the following numbers when rounded o the nearest hundred becomes
51 2007
(1) 51 099
(2) 51 109
(3) 51 119
(4) 51 191

3. Which of the following are common factors of 6 and 9?7
(HYi1and 2
(2y1and 3
(3) 12 and 36
{4) 18 and 36

4. Arrange the following fractions from the greatest to the smallest
1 3 5

2’4’86

{greatest) {smallest)
(1)
(2)
3

159

B N e N e
Slw N OIG BW
i Ml B O

;i



in the number 43.21, the digit is in the hundredths place.
{1
{2)2
(3)3
4) 4

What is the number when 187.45 is rounded to 1 decimal place?
(1) 1874
{2) 1875
{3) 1884
{4)188.5

Which of the following decimals is the smallest?

(1) 4.05
(2) 4.15
(3) 4.015
(4) 4.051

I am a number between 1 1o 50. | am a multiple of 4 and 6. When | am divided
by 5, there will be a remainder of 4. What number am 17

(1) 12
@) 16
(3) 24
{4) 36



8. The figure below is made up of 8 identical squares. The area of the figure is
128 cm?, Find the length of each square.

{1) Bcm
{28 cm
{3)3cm
(4)4 cm

10. Casey placed the cake batter in the oven al 10 35 and she took the cake out at
11 20. How long did it take for the cake o bake?

(1) 20 minutes
(2) 25 minutes
{3) 45 minutes
{4) 85 minutes

11. Rebecca had a total of $10.50. After buying 3 files and 1 pen, she had $3.50
left. Each file cost twice as much as a pen. How much does each pen cost?
(1) $1.00
{2) $2.00
(3)$1.75
{4) $2.80



12

13.

14.

3

Mrs Morris sold p

of her pies. What fraction of the pies did she have lefi?
{(H
{2)

(3) 1

W N e (O]

f

(4) 1

N

Which of the following figures has perpendicular lines?

"E  “N
Y .Y

One cupcake costs $1.50. For every 4 cupcakes bought, she receives the next
cupcake free, Jane spent $13.50 on cupcakes. How many cupcakes did she
have altogether?

(1)8

(2) 10
(3) 11
(4) 15



1 1
Linda gave > of a pizza fo her neighbour and ate 3 of the pizza. Find the fraction
of the pizza left.

o

b

St
1l

@)

@)

I mi-e 1l

End of Section A
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Section B: {40 marks )
Questions 16 to 35 carry 2 marks each. Write your answers in the spaces

provided. For questions which require units, give your answers in the units
stated.

16.

17.

18.

18.

20.

Fill in the blank with the correct number in the number paﬁem betow.

4242 | AT42 |, 5242 , | 6242 , 6742

3
Write Z as a decimal,

Ans.___

Which two, of the following fractions below are in the simplest form?

X

Crimo
WOiw
|

L] i

Ans:_ and

N

" 1
Find the value of i s Express your answer in simplest form.

Ans:

Arrange the following numbers from the smallest fo the greatest.

0.16 ,0861 , 0.161, 0.801

Ans;

(smallest) {greatest)

Do not witle

1 Inthis colurmn




21, Which of the fractions below is equivalent to 87

Ans: _

22, Findthe value of 7.19 x 4.

Ans’

e 1 O S

o 2 . !
23.  Allyson had $50. She spent s of it on a toy and $7 on a book. How much did

she spend altogether?

Ans:$

24. In the figure below, one of the fines is parallel to AB.
Which line is parallel to AB?

Do not virite
in {his colum

Ans:bine _




25. Inthe figure shown, DEFG is a rectangle. Find £ x.
' Do not write
D © In s columa

350

=

®
*r*.

Ans: v I

26. Shade and complete the figure to form a symmetric shape along the dotted

fine,
|

27, Packet drinks were sold at 7 packets for $8.40. if Madam Pang bought 42
packet drinks, how much did she spend? '

Ans: $




Bo notwrite
In this calomp

' i . 1 .. , . 1
28.  Siti has 3 m of ribbon. She used 5 of it to fie a parcel. She used another am

to make a bow How much of the ribbon did she use?

Ans: m

_ 5 .
28.  Molly baked 40 pies for a carnival. She sold 3 of her pies. Each pie is sold at

$6 each. How much money did Molly receive?

Ans: §

30. Line MN is a line of symmetry. Shade 4 more squares in the space provided |
to complete a symmelrical figure.




A survey was done in 2015 to find out the type of houses people live in.
Study the graph carefully and answer questions 31 and 32,

|
|

Landed Properly

Condominium

R HDB 3-10[5-
. RoomeFlgt

:

HDB 1- & 2-Rodm i

Flay § :

¥ ot e " o}
) 5 10 15 20 25 30
’ Number of Families
31.  Find the total number of families living in HDB flats.
Ans:

32. Thereare ____ more families iving in condominiums than in landed

properties.

Ans:

Do potwiila
in this column




33.  MrTang is 5 times as old as his daughter now. 3 years ago, his daughter ;::czt notwita
: s _ . n this colume
was 7 years old. How old is Mr Tang now?

Ans: years old

34, The table below shows how Bryan spends his monthly allowance.

Expenditure Amount {$)

Transport ?

Food 82

Books ?

Total amount: 280

Given that the amount spent on transport is twice the amount spent on food.
Find the amount Bryan spends on books.

Ans:$

35  Draw and label £ BOC measuring 35°.

End of Section B




Name: . e )

Class: Primary4 SY/C/GJ/SE/P ' 30 Do notwrite
. | Inthis colun

Section C: {30 marks)
For questions 36 to 43, show your working clearly in the space provided for each)
guestion and write your answer in the space provided. The number of marks

available is shown in brackets [ ] at the end of each question or part-question.

38, In a game of freasure huni, Ashley, Bob and Candice found 190 treasures

altogether. Ashley found twice as many {freasures as Bob. Candice found 30
less treasures than Bob. How many treasures did Bob find?

Ans: : E3]'

37. A wire is bent fo form the shape of a square with sides measuring 6 cm. The
same wire is then bent to form the tnangle shown below. {Diagrams are not
drawn to scale)

! N,
6 om ? T Ngem
7 \
. 12 em
{a) What is the perimeter of the square?
{b} Find the missing length of the triangle.
Ans: () Bel

) 12}




4
38. 45 children attended a party. 5 of the children were boys and the remaining

children were girls, Each boy received 5 stickers and each girl received 8
stickers. How many stickers were given away?

Ans: . .

39. Use the information below o answer question 39.

» 2 plates of » 4 plates of » & plates of
spaghetli spaghetti spaghetti
» 2 fish fingers 4 fish fingers 8 fish fingers
« 2salad 4 salads 8 salad
» 1 small pizza 1 medium = 2 large pizzas
pizza

Mrs Lee wants to order food for 14 children at a party. Each child must get
a plate of spaghetti. What is the least amount of money she has to Spend

for the party?

Ans: 4]

Do not wiil
i this colu




40,

A rectangular piece of paper was folded {wice as shown below.
(a) Find the perimeter of the paper befora it was folded,
{b) Find the area of the rectangular piece of paper.

e
1 3

¥

]

%

i}

3

E

H

3

¥

¥

1]

3

1]

E

: 3

3

3

3

1 g

s M,
T
12 cm

{y

12 cm

Ans: {a)

)

[2]

21

Bo niol write
In this cotun




. . o 2
41.  Gordan and Harry had 340 marbles altogether. Afier Gordan gave away 5 of
his marbles and Harry gave away 20 of his marbles, they had the same
number of marbles left. How many marbles did Harry bave in the end?
Ans: 4]
42, Minnie was in school from 07 30 1o 15 15. She had a 15 minute snack break, a

30 minute recess and a 35 minute lunch break. The rest of the time were spent

attending dlasses.
{a) How much time did Minnie spend attending classes?

After school, Minnie took 40 minutes fo reach home.
{b) What time did Minnie reach home? | eave your answer in 24-hour clock.

Ans: (a)

{b)

Bo not wri
in ihis coh




| Do not wiite
43. 40 pupils in class 4A scored 380 points in a conlest. Each girl scored 10 pointgh s column

and each boy scored 8 points, How many gitls are there in class 4A7?

Ans:

End of paper.
Piease check your work.
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Section B: { 40 marks ) COH"Z Q{VIOHS SA a\

Questions 16 to 35 carry 2 marks each. Write your answers in the spaces
-provided. For questions which require units, give your answers in the units
stated.

16.  Fill in the blank with the 6orrect number in the number pattern below.

—+ 500
m
4242 | 4742 | 5242 , S TH2 6242 | 6742
+ 500 + 500 + SDpo  + 500
Ans: 57+2~
17. Writez as a decimal.
2x25 - 15
4 X‘>5 100 ~
- 0,18
= 015

18.  Which two of the following fractions below are in the simplest form?

v oy » y

¢

N2 3 5
3,76 7 9 7\12]
N L 5
L 1 Ans: 3 and_Ix
3 3
) 1 5 ..
19. Find the value of—?; + 1> Express your answer in simplest form.
L4554
a2 2 i . :%3
- __3___ Ans: Lt'
1

20.  Arrange the following numbers from the smallest to the greatest.

0.16 ,061 , 0.161, 0.601

Ans: O+ b O'lo | , Oi’agi } O’Q{

(smallest) (greatest)

Do not write
{n this column



21.  Which of the fractions below is equivalent to 87

Do not write
In this colun

N
116 20 25
3727 4 7 3
= J. o~ 2
- 5 % 5 f %—é‘
1
Ans: 2
22. Find the value of 7.19 x 4.
' 3
119
X 4
A% 76
2876
23. Allysen had $50. She spent — of it on a toy and $7 on a book. How much did
Y fsD —
she spend altogether? - — e
| ~Fesst ]
Sy — $50 o % r—— '
Ju —— ESDLE T %7
=£0
Qu —— H (DX =F2W
[otal $é_® —+ 7 = &y Ans:$ 7
spt ) $ T
24. In the figure below, one of the lines is parallel to AB.
Which line is parallel to AB?




25.  Inthe figure shown, DEFG is a rectangle. Find Zx.

D E
35°

Ans:

G
< >¢ :.@D»—'—:sﬁ)“ 55
| -~ B5°

26. Shade and complete the figure to form a symmetric shape along the dotted

line.

27. Packet drinks were sold at 7 packets for $8.40. If Madam Pang bought 42

packet drinks, how much did she spend?

I pkh .
% 6 P $/g %O
52 pkfs P LDy o

oy (LD

Do not write
In this column



1 1
- 28. Siti has 3 m of ribbon. She used > of it to tie a parcel. She used another — m

to make a bow. How much of
— 3y —

pcwu:el
Pavcel — Jix 2m

pea I
£

the ribbon did she use?

Llength L | 4
w-sgai- — [z 7 4

o

‘ Ans: i

5 B
29. Molly baked 40 pies for a carnival. She sold Py of her pies. Each pie is sold at

$6 each. How much money did Molly receive?

& 40

8 e A0

bu — Bx5 =28

FU R

I ﬁ;ae;;z‘@;}ez,f e Y ¥ $ L
= £150

Ans: $ fSO

30. Line MN is a line of symmetry. Shade 4 more squares in the space provided

to complete a symmetrical figure.

+ N

7

\

R

\

\
AN

7

A s

Z
0
7

75
7
Z
7

g
5,

R

Do not write
In this colum



Do not write
In this column

A survey was done in 2015 to find out the type of houses people live in.
Study the graph carefully and answer questions 31 and 32.

Landed Property E‘
Condominiuml ” \
|

Room Fiz

Types of Houses

HDB 3-to{5 A
20

e H 4
'HDB 1- & 2-Rodm
: !
H

" Flat

o

0 5 10 15 20 25 30

Number of Families
31.  Find the total number of families living in HDB flats.
B+ 26
= 2 /

3

Ans:

32. There are more families living in condominiums than in landed

properties.

b
- 5

) 4



33. MrTangis 5 times as old as his daughter now. 3 years ago, his daughter

was 7/ years old. How old is Mr Tang now? .

WTTr T 717 T 171
d

ADLO

damgwer __ q+3
now =0

WET - [OXS
= 50

50

Ans;

years old

34. The table below shows how Bryan spends his monthly allowance.

Expeﬁditure Amount ($)
Tranéport ? 2.91
Food 82 |y
Books ?
Total amount: 280

Given that the amount spent on transport is twice the amount spent on food.

Find the amount Bryan spends on books.

booky m 280 =144 ~82

I ~— 8 2.
2N — 2 K 2,
EN I

34
Ans:$ %‘f“

35  Draw and label £ BOC measuring 35°.

357

Fnd nf Seartion B

Do not write |
in this colum



- Class: Primary 4 SY/C/G/SE/P

- 36.

b

Name :

30

Section C: (30 marks)

For questions 36 to 43, show your working clearly in the space provided for each
question and write your answer in the space provided. The number of marks
available is shown in brackets [ ] at the end of each question or part-question.
In a game of treasure hunt, Ashley, Bob and Candice found 190 treasures
altogether. Ashley found twice as many treasures as Bob. Candice found 30

less treasures:than Bob. How many treasures did Bob find?

At %So ~ Eéo} * - G4y — 0O
B |~ 20 (110 |u— 100~ 4
_ | | Rob — g+ a2
20 %3 40 - 55
190 =490 = 100 —
Ans: 55 [3]

J37. A wire is bent to form the shape of a square vi(ith sides measuring 6 cm. The
same wire is then bent to form the triangle shownbelow. (Diagrams are not

drawn to scale)

? 5cm
' 12 cm
(@) What is the: perimeter of the square?
(b) Find the missing length of the triangle.
) P CDP Ry — x4
Mi‘f - :
=~ 24
P.oy A — >y
’\ﬂ‘.:} Aoy %ﬁg’l “""’”; Ead - A’ ~
‘xgss.v».f kﬂ@ﬂa = Y e Ans: (a) 4 S ]
~ Jom )T )

Do not write
In this colun



4
38. 45 children attended a party. P of the children were boys and the remaining
children were girls. Each boy received 5 stickers and each girl received 8
stickers. How many stickers were given away?
Z - RN
< Lﬁb 7
[ _
v ’ - i A 7 ! i
SR o — p————
_ : e
g':*a*\/ S ‘:{ g
Tu ~— 45
I — 4519 = 5 ' chqcﬁ’{ DO+ 200
Given szﬁﬁ
Boys —~4 x5 - 20 Y =z 300
20¥5 = 100

Grly — B xE = a5
D2BExE = 200

39. Use the information below to answer question 39.
o 2 plates of e 4 plates of e Gplateso
spaghetti spaghetti spaghetti
e 2 fish fingers e 4 fish fingers 8 fish fingers
e 2 salad e 4 salads 8 salad
o 1 small pizza e 1 medium 2 large pizzas
pizza
Mrs Lee wants to order food for 14 children at a party. Each child must get
a plate of spaghetti. What is »_mount of money she has to spend
for the party? T
T x Sets A 5 sekA + [seh R
— LAY ' — oy, N _
415 L0 % T w%zm+ 235D ;
= %/ 50 -

2 sk B o4 | et A
£(3250%3) +£ib.v0
T 54 /

= £S5

A g A

Ans

Do not wri
In this colt

. P,
and lser A,



40. A rectanguléf piece of paper was folded twice as shown below.

(a) Find the perimeter of the paper before it was folded.
(b) Find the area of the rectangular piece of paper.
12 cm 12 cm
Lengshe  —— 12+ 8
= 2
QA P .
P—= 20 + 20+ 13 + 12
= G4 vy
by A — 20x 12
= D40 Q,,;v’\,’if)'
- b4 e
Ans: (a) i [2]
Q P
o SH0wn™

Do not write
In this colun




a)

b)

2
41. Gordan and Harry had 340 marbles altogether. After Gordan gave away 3 of

his marbles and Harry gave away 20 of his marbles, they had the same

number of marbles left. How many marbles did Harry have in the end?

AN
Wl 2O
- SUSON
S9G0 -20 = 23D
Zu — 2.0
lu, —— 22D ~

= <L Ans: 12D [4]
2w —D ¥ 2 = 120

340

42.  Minnie was in school from 07 30 to 15 15. She had a 15 minute snack break, a |

30 minute recess and a 35 minute lunch break. The rest of the time were spent
attending classes.

(a) How much time did Minnie spend attending classes?

T h B 2O Min 1< msr-*s
TN TN TNy
5730 4 30 o0 1544

Toted tume — 1+ 2O pag, IS o
= Tih 4 mim

After school, Minnie took 40 minutes to reach home.

(b) What time did Minnie reach home? Leave your answer in 24-hour clock.
| 15 mn + 20mh -+ 35 min = 5 m;;&
= [l 20 min
Th 45 min — |h 20mpm

= Gh 25 Mmoo

oy by 25 min
40 m !1:3 Ans: (a) 2]

i

l= . o
IS I3 £ 55 | IS 55 p

Do not wr
In this col



and each boy scored 8 points. How many girls are there in class 4A?

40

T —

Tofed 290 | Check |

I Boys
§Q0x8
L E 60

g Girls

120x% 0

= 200

[0 + 200
= 360

RO TS S

A X (O
*::.3_5‘0

130+ 250 |
=270 | ¥

l30% 10 |
| =00 |

gw:?.s ,

B0+300 |

=380 ‘/

30

Ans:

Do not write
43. 40 pupils in class 4A scored 380 points in a contest. Each girl scored 10 pointg'n this column

[4

End of paper.

Please check your work.







